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1. Lösung zur Hertzschen Pressung 

 
  

geg.:   FG = 380.000N                                                                               ges.: ٧               = ?                                                                         

            n  = 12                                                                                                    pmax       = ? 

            l   = 50mm                                                                                              E1Rad      = ? 

            r1 = 250mm                                                                                            E2Schiene= ? 

            r2 =  ∞ 

 

Formel: 
 

٧               = 0,3                            (TB 12-6) 

E1Rad       = 200.000 N/mm
2           

(TB 1-1; Europa S.46) 

E2Schiene = 200.000 N/mm
2 
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E = 2/000.200 mmN  
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F = N667.31  
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